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Oefenblad: Wat is het juiste antwoord uit de tafel van
>y 8?
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8x 8=

o432 (80 (8

6x8=

9x 8=

(80)(64)(40) (72,

13.

3x8=

17.

10x 8=
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5x8=

80)(40)(72) (32,

Tx8=

72)(32)(56) (48,

10.

4% 8=

56)(64)(32)(72,

14.

9x 8=

48)(24)(52)(72)

18.

10x 8=

24)(50) (64 (80)
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1x8=

4% 8=

(8040 (48) (32,

11.

5x8=

(40)(72)(48) (80,

15.

6x8=

EDIOICICY

19.

6x8=

(80)(72)(24) 48)

5x8=

72)(40)(16) (55,

6x8=

32)(64)(56) (48,

12.

7x8=

03280, (55,

16.

5x8=

40)(80)(32) (55,

20.

1x8=



9WN/o

g‘)e‘feArl:I%%C\g\;althlsN het juiste antwoord uit de tafel van
<l Tafels
1. 2. 3. 4.
83X 8= 5x8= 1x8= 5x8=
s4)(32)(s0/(8)  (s0)(40)(72)(32) 7240 (16 (56
5. 6. 1. 8.
bx8= [ x8= 4x8= bx8=
72)(32)(56 (48] (80)(40)(48)(32) (3264 (s (48)
9. 10. 11. 12.
9x 8= 4x8= 5x8= [ x8=
50)(64) (40 (72)  (s6)(64)(32)(72)  (40)(72)(48)(80) (40)(32)(80) (56
13. 14. 15. 16.
3x8= 9x 8= 6x8= 5x8=
48)(24)(32)(72) 40)(80)(32)(56)
17. 18. 19. 20.
10x 8= 10x 8= 6x38= 1x8=
(80)(72) (24)(48)
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